

From the session 2023-24, the textbooks are rationalised under the new National Education Policy 2020. This **Sanjiv Refresher** is completely based on the new rationalised textbook.

Sanjiv Refresher

MATHEMATICS

Based on Latest NCERT Text Book

For Class-10

Price : ₹ 380/-

Publisher :

 **SANJIV PRAKASHAN** 
Jaipur

- Published by :
Sanjiv Prakashan
Dhamani Market, Chaura Rasta,
Jaipur-302003
email : sanjeevprakashanjaipur@gmail.com
website : www.sanjivprakashan.com

- © Publisher

- Laser Type Setting :
Sanjiv Prakashan (D.T.P. Department),
Jaipur

- Printers :
Punjabi Press, Jaipur

❖ *Every effort has been made to remove the mistakes and omissions in this book. In case of any suggestion or any error found, send an email or post a letter to us at the following address :*

Email : sanjeevprakashanjaipur@gmail.com

Postal Address : Publication Department

Sanjiv Prakashan,
Dhamani Market, Chaura Rasta,
Jaipur-302003

❖ *Your suggestions shall be taken care of in our next edition.*

❖ *Though all the precautions have been taken in publishing this book yet for any mistake the author, publisher or printer is not liable. All disputes are subjected to Jaipur Jurisdiction only.*

❖ *© Rights are reserved. No part of this publication may be produced in any form, by photocopy, microfilm, xerography, recording or otherwise without the prior written permission of the publisher. Any breach will entail legal action and prosecution without further notice.*

Index

1. Real Numbers	1-12
2. Polynomials	13-26
3. Pair of Linear Equations in Two Variables	27-59
4. Quadratic Equations	60-80
5. Arithmetic Progressions	81-121
6. Triangles	122-145
7. Coordinate Geometry	146-172
8. Introduction to Trigonometry	173-205
9. Some Applications of Trigonometry	206-233
10. Circles	234-254
11. Areas Related to Circles	255-270
12. Surface Areas and Volumes	271-292
13. Statistics	293-322
14. Probability	323-344
Appendix-1	
Proofs in Mathematics	345-352
Appendix-2	
Mathematical Modelling	353-355

Mathematics—Class 10

Chapter-1

Real Numbers

Important Points

- Fundamental Theorem of Arithmetic**—Every composite number can be expressed (factorised) as a product of prime numbers and this factorisation is unique apart from the order in which prime factors occur.
- We will use the fundamental theorem of arithmetic in two applications—
 - To prove the irrationality of some numbers like $\sqrt{2}, \sqrt{3}, \sqrt{5}$ etc.
 - To find the prime factorisation of a given numbers.
- Highest Common Factor (HCF)**—The greatest common factor of the given numbers is called the Highest Common Factor (HCF) of those numbers.
 \therefore HCF = Product of the smallest power of each common prime factor.
- Least Common Multiple (LCM)**—The smallest common multiple of the given numbers is called the Least Common Multiple (LCM).
 \therefore LCM = Product of the greatest power of each prime factorisation associated with the numbers.
- Relation between LCM and HCF of Two Numbers**—The product of LCM and HCF of two numbers is the product of two numbers. *i.e.*
 $\text{HCF}(a, b) \times \text{LCM}(a, b) = a \times b$
- $\text{HCF}(a, b) = \frac{a \times b}{\text{LCM}(a, b)}$
 - $\text{LCM}(a, b) = \frac{a \times b}{\text{HCF}(a, b)}$
 - $a = \frac{\text{HCF}(a, b) \times \text{LCM}(a, b)}{b}$
 - $b = \frac{\text{HCF}(a, b) \times \text{LCM}(a, b)}{a}$
- Consider any rational number that when the decimal expansion of p/q is terminating and when it is non terminating and recurring, we find out by looking at the prime factors of every q of p/q .
- A number 's' is called an irrational number if it cannot be written in the form of p/q , where p and q are integers and $q \neq 0$. For example : $\sqrt{2}, \sqrt{3}, \sqrt{15}\pi, -\frac{\sqrt{2}}{\sqrt{3}}, 0.10110111011110\dots\dots$ etc.
- If p is a prime number and if p divides a^2 , then will also divide a , where a is a positive integer.

Irrational numbers : The numbers whose decimal expansions are non-terminating non-recurring are called irrational numbers.

For example : $\sqrt{2}, \sqrt{3}, \sqrt{5}, \sqrt{6}, \pi$ etc

10. The sum or difference of a rational and an irrational number is irrational.

11. The product and quotient of a non-zero rational and irrational number is irrational.

Text Book Questions

EXERCISE 1.1

1. Express each number as a product of its prime factors :

- (i) 140 (ii) 156 (iii) 3825
(iv) 5005 (v) 7429

Solution—

(i) Prime factorisation of 140 = 2×70
 $= 2 \times 2 \times 35$
 $= 2 \times 2 \times 5 \times 7$
 $= 2^2 \times 5 \times 7$

(ii) Prime factorisation of 156 = 2×78
 $= 2 \times 2 \times 39$
 $= 2 \times 2 \times 3 \times 13$
 $= 2^2 \times 3 \times 13$

(iii) Prime factorisation of 3825
 $= 3 \times 1275$
 $= 3 \times 3 \times 425$
 $= 3 \times 3 \times 5 \times 85$
 $= 3 \times 3 \times 5 \times 5 \times 17$
 $= 3^2 \times 5^2 \times 17$

(iv) Prime factorisation of 5005
 $= 5 \times 1001$
 $= 5 \times 7 \times 143$
 $= 5 \times 7 \times 11 \times 13$

(v) Prime factorisation of 7429
 $= 17 \times 437$
 $= 17 \times 19 \times 23$

2. Find the LCM and HCF of the following pairs of integers and verify that $\text{LCM} \times \text{HCF} = \text{product of the two numbers}$.

- (i) 26 and 91 (ii) 510 and 92
(iii) 336 and 54

Solution : (i) 26 and 91

Prime factorisation of 26 = 2×13

Prime factorisation of 91 = 7×13

\therefore LCM of 26 and 91 = $2 \times 7 \times 13 = 182$
and HCF of 26 and 91 = 13

Verification—HCF (26, 91) \times LCM (26, 91)
 $= 13 \times 182$
 $= 13 \times 2 \times 91$
 $= 26 \times 91$
 $= \text{Product of given numbers}$

(ii) 510 and 92

Prime factorisation of 510 = 2×255
 $= 2 \times 3 \times 85$
 $= 2 \times 3 \times 5 \times 17$

and Prime factorisation of 92 = 2×46
 $= 2 \times 2 \times 23$
 $= 2^2 \times 23$

LCM (510, 92) = $2^2 \times 3 \times 5 \times 17 \times 23$
 $= 23460$

and HCF (510, 92) = 2

Verification—

HCF (510, 92) \times LCM (510, 92)
 $= 2 \times 23460$
 $= 2 \times 2^2 \times 3 \times 5 \times 17 \times 23$
 $= 2 \times 3 \times 5 \times 17 \times 2^2 \times 23$
 $= 510 \times 92$
 $= \text{Product of given numbers}$

(iii) 336 and 54

Prime factorisation of 336 = 2×168
 $= 2 \times 2 \times 84$
 $= 2 \times 2 \times 2 \times 42$
 $= 2 \times 2 \times 2 \times 2 \times 21$
 $= 2 \times 2 \times 2 \times 2 \times 3 \times 7$
 $= 2^4 \times 3 \times 7$

Prime factorisation of 54 = 2×27
 $= 2 \times 3 \times 9$
 $= 2 \times 3 \times 3 \times 3$
 $= 2 \times 3^3$

\therefore HCF (336, 54) = $2 \times 3 = 6$
LCM = $2^4 \times 3^3 \times 7$
 $= 3024$

Verification—

HCF (336, 54) \times LCM (336, 54)

$$\begin{aligned}
 &= 6 \times 3024 \\
 &= 2 \times 3 \times 2^4 \times 3^3 \times 7 \\
 &= 2^4 \times 3 \times 7 \times 2 \times 3^3 \\
 &= 336 \times 54 \\
 &= \text{Product of given numbers}
 \end{aligned}$$

3. Find the LCM and HCF of the following integers by applying the prime factorisation method.

- (i) 12, 15 and 21 (ii) 17, 23 and 29
 (iii) 8, 9 and 25

Solution : (i) 12, 15 and 21

$$\begin{aligned}
 \text{Prime factorisation of } 12 &= 2 \times 2 \times 3 \\
 &= 2^2 \times 3
 \end{aligned}$$

$$\text{Prime factorisation of } 15 = 3 \times 5$$

$$\text{Prime factorisation of } 21 = 3 \times 7$$

$$\begin{aligned}
 \therefore \text{LCM (12, 15 and 21)} &= 2^2 \times 3 \times 5 \times 7 \\
 &= 420 \text{ Ans.}
 \end{aligned}$$

$$\text{and HCF (12, 15 and 21)} = 3 \text{ Ans.}$$

(ii) 17, 23 and 29

$$\text{Prime factorisation of } 17 = 1 \times 17$$

$$\text{Prime factorisation of } 23 = 1 \times 23$$

$$\text{Prime factorisation of } 29 = 1 \times 29$$

$$\begin{aligned}
 \therefore \text{LCM (17, 23 and 29)} &= 17 \times 23 \times 29 \\
 &= 11339 \text{ Ans.}
 \end{aligned}$$

$$\text{and HCF (17, 23 and 29)} = 1 \text{ Ans.}$$

(iii) 8, 9 and 25

$$\text{Prime factorisation of } 8 = 2 \times 2 \times 2 = (2)^3$$

$$\text{Prime factorisation of } 9 = 3 \times 3 = (3)^2$$

$$\text{Prime factorisation of } 25 = 5 \times 5 = (5)^2$$

$$\begin{aligned}
 \therefore \text{LCM (8, 9 and 25)} &= (2)^3 \times (3)^2 \times (5)^2 \\
 &= 8 \times 9 \times 25 \\
 &= 1800 \text{ Ans.}
 \end{aligned}$$

$$\text{and HCF (8, 9 and 25)} = 1 \text{ Ans.}$$

4. Given that HCF (306, 657) = 9, find LCM (306, 657).

Solution : According to the question, the numbers are 306 and 657.

$$\therefore a = 306$$

$$b = 657$$

$$\text{and HCF} = 9 \text{ [Given]}$$

We know that

$$\text{LCM} = \frac{a \times b}{\text{HCF}}$$

$$\begin{aligned}
 &= \frac{306 \times 657}{9} \\
 &= 34 \times 657 \\
 &= 22338
 \end{aligned}$$

Hence LCM (306, 657) = 22338 Ans.

5. Check whether 6^n can end with the digit 0 for any natural number n .

Solution : Suppose that for any natural number n , $n \in \mathbb{N}$, 6^n ends with the digit 0. Hence 6^n will be divisible by 5.

$$\text{But prime factorisation of } 6 = 2 \times 3$$

$$\therefore \text{The prime factorisation of } (6)^n \text{ will be } (6)^n = (2 \times 3)^n$$

i.e., it is clear that there is no place of 5 in the prime factors of 6^n .

$$\therefore 5 \text{ can not be a factor of } 6^n$$

Hence, 6^n can not end with the digit 0 for any natural number n .

6. Explain why $7 \times 11 \times 13 + 13$ and $7 \times 6 \times 5 \times 4 \times 3 \times 2 \times 1 + 5$ are composite numbers.

Solution : According to the question

$$7 \times 11 \times 13 + 13 = 13 (7 \times 11 + 1)$$

Since 13 is a factor of this number obtained, therefore it is a composite number. Again according to the question

$$\begin{aligned}
 7 \times 6 \times 5 \times 4 \times 3 \times 2 \times 1 + 5 \\
 = 5 (7 \times 6 \times 4 \times 3 \times 2 \times 1 + 1)
 \end{aligned}$$

This obtained number is also a composite number because it has also a factor 5. Hence both the given numbers are composite numbers.

7. There is a circular path around a sports field. Sonia takes 18 minutes to drive one round of the field, while Ravi takes 12 minutes for the same. Suppose they both start at the same point and at the same time, and go in the same direction. After how many minutes will they meet again at the starting point?

Solution : Time taken by Sonia to drive one round of the field = 18 minutes.

Time taken by Ravi to drive one round of the same field = 12 minutes

In order to find after how much time will they meet again at the starting point, we shall have to find out the LCM of 18 and 12. Therefore

$$\begin{aligned} \text{prime factorisation of } 18 &= 2 \times 9 \\ &= 2 \times 3 \times 3 \\ &= 2 \times 3^2 \end{aligned}$$

$$\begin{aligned} \text{and prime factorisation of } 12 &= 2 \times 6 \\ &= 2 \times 2 \times 3 \\ &= 2^2 \times 3 \end{aligned}$$

Taking the product of the greatest power of each prime factor of 18 and 12

$$\begin{aligned} \text{LCM (18, 12)} &= 2^2 \times 3^2 \\ &= 4 \times 9 \\ &= 36 \end{aligned}$$

i.e., Sonia and Ravi will meet again at the starting point after 36 minutes. **Ans.**

EXERCISE 1.2

1. Prove that $\sqrt{5}$ is irrational.

Solution : Let us suppose that $\sqrt{5}$ is a rational number. So, we can find two integers r and s where $s \neq 0$ and

$$\sqrt{5} = \frac{r}{s}$$

Now again let us suppose that r and s have some common factors other than 1. Then on dividing r and s by that common factor, we can obtain $\sqrt{5} = \frac{a}{b}$. Here a and b are coprime, *i.e.*

$$b\sqrt{5} = a$$

squaring both sides

$$\Rightarrow (b\sqrt{5})^2 = a^2$$

$$\Rightarrow b^2(\sqrt{5})^2 = a^2$$

$$\Rightarrow 5b^2 = a^2 \quad \dots(i)$$

So 5 divides a^2 .

According to theorem if a prime number p divides a^2 , then p will divide a also, where a is a positive integer.

$$\Rightarrow 5 \text{ divides } a \text{ also.} \quad \dots(ii)$$

so $a = 5c$ where c in any integer

Putting the value of a in (i)

$$5b^2 = (5c)^2$$

$$5b^2 = 25c^2$$

$$b^2 = 5c^2$$

$$\text{or } 5c^2 = b^2$$

$$\Rightarrow 5 \text{ divides } b^2$$

According to theorem 1.2, 5 divides b also.(iii)

From (ii) and (iii), there is at least one common factor 5 of a and b . But it is contradicts the fact that a and b are coprime or these have no common factor other than

1. Therefore our hypothesis that $\sqrt{5}$ is a rational number is wrong, *i.e.*, $\sqrt{5}$ is an irrational number. **Hence Proved**

2. Prove that $3 + 2\sqrt{5}$ is irrational.

Solution : Suppose that $3 + 2\sqrt{5}$ is a rational number. So we can find coprime numbers a and b where a and b are integers such that $b \neq 0$ and

$$3 + 2\sqrt{5} = \frac{a}{b}$$

$$\text{or } \frac{a}{b} - 3 = 2\sqrt{5}$$

$$\text{or } \sqrt{5} = \frac{a}{2b} - \frac{3}{2}$$

$$\text{or } \sqrt{5} = \frac{a-3b}{2b}$$

Since a and b both are integers,

$$\therefore \frac{a-3b}{2b} \text{ is a rational number}$$

Therefore $\sqrt{5}$ is a rational number. But this fact contradicts the statement that $\sqrt{5}$ is an irrational number. Therefore this hypothesis is wrong. Therefore the given number $3 + 2\sqrt{5}$ is an irrational number.

Hence Proved

3. Prove that the following are irrationals :

$$(i) \frac{1}{\sqrt{2}} \quad (ii) 7\sqrt{5} \quad (iii) 6 + \sqrt{2}$$

Solution : (i) $\frac{1}{\sqrt{2}}$

Contrary to the statement given in question let us assume that $\frac{1}{\sqrt{2}}$ is a rational number. So we can find coprime integers a and b ($b \neq 0$), *i.e.*,

$$\frac{1}{\sqrt{2}} = \frac{1}{\sqrt{2}} \times \frac{\sqrt{2}}{\sqrt{2}} = \frac{\sqrt{2}}{2}$$

or $\frac{\sqrt{2}}{2} = \frac{a}{b}$

or $\sqrt{2} = \frac{2a}{b}$ (i)

Since the quotient of two integers is a rational number, therefore $\frac{2a}{b}$ = a rational number.

From (i) $\sqrt{2}$ also is a rational number. But this statement is wrong. *i.e.*, our hypothesis is incorrect. Therefore $\frac{1}{\sqrt{2}}$ is an irrational number. **Hence Proved**

(ii) $7\sqrt{5}$

Suppose that the given number $7\sqrt{5}$ is a rational number. Therefore we can find two coprime integers a and b ($b \neq 0$) such that

$$7\sqrt{5} = \frac{a}{b}$$

or $7b\sqrt{5} = a$

or $\sqrt{5} = \frac{a}{7b}$ (i)

Since in (i) a , 7 and b all are integers and the quotient of two integers is also a rational number, *i.e.*,

$\frac{a}{7b}$ = a rational number therefore from (i)

$\sqrt{5}$ = a rational number which is a contradictory statement of the statement

‘ $\sqrt{5}$ is one irrational number.’ Hence our assumption is incorrect. Therefore $7\sqrt{5}$ is an irrational number. **Hence Proved**

(iii) $6 + \sqrt{2}$

Suppose that $6 + \sqrt{2}$ is a rational number. So we can find coprime numbers a and b ($b \neq 0$) such that

$$6 + \sqrt{2} = \frac{a}{b}$$

or $\sqrt{2} = \frac{a}{b} - 6$

or $\sqrt{2} = \frac{a-6b}{b}$ (i)

As a and b are integers, so $\frac{a-6b}{b}$ will be a rational number because the quotient of integers is also a rational number, *i.e.*,

$$\frac{a-6b}{b} = \text{a rational number}$$

∴ From (i)

$$\sqrt{2} = \text{a rational number}$$

But this is a contradictory statement of the statement that ‘ $\sqrt{2}$ is an irrational number’.

Hence our assumption is incorrect, *i.e.*, $6 + \sqrt{2}$ is an irrational number.

Hence Proved

Other Important Questions

Objective Type Questions—

- Which of the following is an irrational number? (Sec. Board Exam., 2022)

(A) 2	(B) 2.232425.....
(C) 2.23	(D) 2.23
- Given that HCF (156, 78) = 78, then LCM (156, 78) is—

(A) 78	(B) 156
(C) 156 × 78	(D) None of these
- The prime factorisation of 225 can be written in the following form—

(A) $5^2 \times 3^2$	(B) 5×3^2
----------------------	--------------------